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Q.1 Choose the correct alterative and write answer in your answerbook.   
1. Railway service is this kind of good [10] 

 (a) Private (b) Public (c) Mixed (c) Common  
2. Free-riding in case of public goods exists due to this quality  

 (a) Scarcity     (b) Non-exclusivity   
 (c) Free      (d) Non-rivalry  

3. Pigou suggests corrective taxes in case of 
 (a) Positive externality   (b) Negative externality  
 (c) Common property resources (d) Private goods  

4. The policy with regard to the income and expenditure of the 
government is termed as 

 

 (a) Monetary Policy   (b) Tax Policy  
 (c) Fiscal policy    (d) Expenditure Policy  

5. This is necessary to reduce inequalities of income ` 
 (a) Redistribution    (b) Distribution   
 (c) Taxation     (d) Stabilization  

6. The theory of maximum social advantage was given by  
 (a) Pigou  (b) Musgrave (c) Lindahl  (d) Dalton   

7. If a seller passes the burden of tax on the consumer, it is called  
 (a) Shifting   (b) Backward shifting    
 (c) Forward shifting (d) Tax Incidence    

8. This is not possible with direct taxes  
 (a) Incidence of tax (b) Impact of tax   
 (d) Shifting of tax  (d) Burden of tax  

9. A fine is differentiated from a tax because  
 (a) It is very less in value    
 (b) It is not compulsory  
 (d) Its objective is to generate income for the government  
 (d) Its objective is to prevent a certain activity  

10. The theory of impossibility of arriving at a rational solution through 
majority voting was given by 

 

 (a) Arrow (b) Dalton (c) Fisher (d) Samuelson  
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Q.2 Explain why is it necessary for the government to intervene in the 
economy.  

[15] 

 OR  

Q.2 Explain various types of goods and their characteristics, with 
suitable examples.  

[15] 

   
Q.3 Explain in detail, the Principle of Maximum Social Advantage. What 

are its limitations ? 
[15] 

 OR  

Q.3 Explain Coasian bargaining principle. How is it useful in mitigating 
negative externalities from the economy ? 

[15] 

   
Q.4 Discuss the objectives of fiscal policy. [15] 

 OR  

Q.4 What is Stabilization ? How does the government bring stabilization 
in the economy ? 

[15] 

   
Q.5 Explain in detail, the 'ability to pay' approach of taxation. [15] 

 OR  

Q.5 Write a detailed note on taxable capacity and factors affecting it. [15] 

 

NyS>fpsu sfS|>dp¡ 
Ly$g NyZ: 70 

 

â.1 Mfp¡ rhL$ë` Ap`_u DÑfhludp„ gMp¡. (10) 
1. f¡ëh¡ k¡hp Ap âL$pf_u hõsy R>¡.  

 A) Mp_Nu b) Ål¡f  L$) rdî  X$) krlepfu  
2. Ål¡f hõsyAp¡_p„ k„v$c®dp„ das khpfuAp¡_p„ L$pfZ¡ DÐ`Þ_ \pe R>¡.  

 A) AR>s b) rb_-h„rQssp L$) das  X$) rb_-lqfapB  
3. Ap_p„ dpV¡$ `uNy ky^pfL$ L$fh¡fp k|Qh¡ R>¡.  

 A) lL$pfpÐdL$ bpü Akf   b) _L$pfpÐdL$ bpü Akf  
 L$) krlepfu k„`rÑ_p kp^_p¡  X$) Mp_Nu hõsyAp¡  

4. kfL$pf_u AphL$ A_¡ MQ®_¡ gNsu _urs_¡ L$l¡hpdp„ Aph¡ R>¡.  
 A) _pZp„L$ue _urs    b) L$f _urs  
 L$) fpS>L$p¡jue _urs    X$) MQ® _urs  

5. AphL$_u Akdp_sp OV$pX$hp dpV¡$ Ap_u S>ê$f R>¡.  
 A) `y_: hl¢QZu  b) hl¢QZu   
 L$) L$fh¡fp   L$) [õ\fuL$fZ  

6. dlÑd kpdpÆL$ gpc_p¡ rkÙp„s ApdZ¡ Apàep¡.  
 A) `uNy  b) dkN°¡h  L$) rgÞX$pg L$) X$pëV$_ 
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7. Å¡ rh¾¡$sp L$f_p¡ bp¡Å¡ N°plL$ D`f Mk¡X¡$, sp¡ s¡_¡ L$l¡hpe  
 A) rhhs®_   b) `òpv¹Npdu rhhs®_   
 L$) A_yNpdu rhhs®_ X$) L$f k„`ps   

8. âÐen L$f_p„ k„v$c®dp„ Ap iL$e _\u.  
 A) L$f k„`ps  b) L$fpOps  L$) L$f rhhs®_  X$$) L$fbp¡S>  

9. v„$X$ A¡ L$f L$fsp„ Sy>v$p¡ R>¡ L$pfZ L¡$   
 A) s¡_y„ d|ëe M|b Ap¡Ry>„ lp¡e R>¡  
 b$) s¡ afrS>eps lp¡sp¡ _\u   
 L$) s¡_p¡ DØ¹¡íe kfL$pf dpV¡$ AphL$ Dcu L$fhp_p¡ lp¡e R>¡  
 X$) s¡_p¡ DØ¹¡íe L$p¡B Qp¡L$L$k âh©rÑ_¡ fp¡L$hp_p¡ lp¡e R>¡  

10. blzdsu dsv$p_ Üpfp spqL®$L$ r_Z®e `f `lp¢Qhp_u AiL$esp_p¡ rkÙp„s ApdZ¡ Apàep¡. 
 A) A¸fp¡  b) X$pëV$_ L$) qaif  X$) k¡çeygk_  
   
   

â.2 kfL$pf Üpfp A\®s„Ódp„ lõsn¡` L$fhp¡ ip dpV¡$ S>ê$fu R>¡ s¡ kdÅhp¡. (15) 
 A\hp  

â.2  hõsyAp¡_p„ Sy>v$p„-Sy>v$p„ âL$pfp¡, s¡d_u gpnrZL$spAp¡ krls kdÅhp¡. (15) 
   
   

â.3 dlÑd kpdpÆL$ gpc_p¡ rkÙp„s rhNshpf kdÅhp¡. s¡_u dep®v$pAp¡ L$B-L$B R>¡? (15) 
 A\hp  

5°.3 L$p¸T_p¡ kp¡v$pNufu_p¡ k„b„^ kdÅhp¡. A\®s„Ódp„\u _L$pfpÐdL$ bpü Akfp¡ v|$f 
L$fhpdp„ s¡ L¡$hu fus¡ D`ep¡Nu R>¡ ? 

(15) 

   
   

5°.4 fpS>L$p¡jue _urs_p„ DØ¹¡íep¡_u QQp® L$fp¡. (15) 
 A\hp  

â.4 [õ\fuL$fZ A¡V$g¡ iy„ ? kfL$pf A\®s„Ódp„ [õ\fuL$fZ L¡$hu fus¡ gph¡ R>¡ ? (15) 
   
   

â.5 L$fh¡fp_p¡ ""L$f cfhp_u iqL$s''_p¡ ArcNd rhNshpf kdÅhp¡. (15) 
 A\hp  

â.5 L$fv$p_ndsp A_¡ s¡_¡ Akf L$fsp„ `qfbmp¡ D`f rhNshpf _p¢^ gMp¡. (15) 
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